154

2, E%H% A4 BEFF)I|
(BER) | #F A
—iR1ER
XE ([SUBCe) | KEBCC) | HEBUKE | FiR =i BR
48] Bh 20.0 16.0 == BE me mR
6A| Eh 24.5 20.0 == B a8 mE
sAl ®\Bhn 32.0 25.0 xE BE Zf@-h mE
108] Bh 245 205 =E BE Z6 mE
128] Bh 145 13.0 =IE BE 58K mR
28| Eh 5.0 13.0 xE BE 8- % ®ER
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 9.0 0.8(1.1) 1 850
48] 75 93 16 3 1700
6A|l 718 8.0 <05 <1 1100
8Al 719 74 <05 <1 490
10A] 73 8.0 0.6 <1 1100
128 74 10 0.5 1 490
28 7.7 11 1.1 <1 220
BEEE
NS INESS & B AEYOL|] WME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] 0.01LLF | JE4RH | 0.01LLF | 0.05LLF [0.01LLF | 0.0005LLF
EfE] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6 A - - - - - - -
8A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 - - - - - - -
28] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
SOO0A[ o we | ,2-07H [1,1-5500] Y X-1,2-050]1,1,1-F)50
PCB 5 bR A E 3 x4y | Tl NIFLo nT A
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eiE] JEE [0.028LF | 0.002LLF | 0.004LLF [ 0.02LLF [ 0.04LLF 1LF
i - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
6 A - - - - - - -
8H - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
12A] - - - - - - -
28 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
1,1,2-ky4 [FUYBaAFrSH00x( 1,3-27A — . —sen FARA
aaIsy | TFLY FLY oroRy Fo5L PE 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 L 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
EfE[ <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 A - - - - - - -
8A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A] - - - - - - -
28] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLTF [001LLF| 10BF 0.8LLF 1DF
Eiy <0.001 <0.001 0.22 <0.1 <0.1
4H] <o0.001 <0.001 0.14 <0.1 <0.1
6H - - - - -
8A] <0.001 <0.001 0.23 <0.1 <0.1
10H] <0.001 <0.001 0.32 <0.1 <0.1
12H - - - - -
28] <0.001 <0.001 0.20 <0.1 <0.1
EDHIEE
Nonmn| TEX | 2@ @ | 2B | snados [TV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 0.42 0.016 <004 - - -
7y: 1 0.44 0.014 <004 - - -
6H - - - - - - -
sA| - 0.37 0.003 <004 - - -
108 - 0.45 0.008 <004 - - -
12H - - - - - - -
28 - 0.40 0.039 <004 - - -
BiLH HIHERTE | VB : = i S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (u S/cm)
EREl - - 1.1 <0.01 = 3 =
4R - - 1.2 <0.01 - 6 -
64 - - 1.1 - - <1 -
8H - - 1.3 <0.01 - <1 -
108 - - 1.0 <0.01 - <1 -
12H - - 0.5 - - 8 -
2R — - 1.4 <0.01 — <1 -




RIS

= E| Ry
. =K+ I E 7)1l
(wyR) | J® A
— g1 B
XE |[SUBCe) | KEBCC) | HBUKE | FR =i BR
48] Bh 20.0 17.0 == BE me mR
68l BEBh 25.0 19.0 =RE BE s8I me
sA|l ®Bn 32.0 25.0 xE BE Zf@-h mE
108| Bh 245 20.5 =IE BE x8 mR
128] Bh 145 13.0 == BE 8- mR
28| Eh 5.0 13.0 xE BE - % B®R
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 8.9 0.5(0.6) 1 14000
48] 70 8.8 0.6 4 490
6A|l 716 8.0 <0.5 4 33000
8A|l 718 8.4 0.6 A 49000
10A] 7.3 8.5 <0.5 <1 1700
12A] 7.1 10 <0.5 2 270
2A] 72 9.8 <0.5 A 49
BEIER
N INESS R ANEIOL| WFE BiKE  |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ EHE/H | 001LLF | 005LLF [ 001LLF | 0.0005LLF JERH
EiH{E - - - - - - =
4K - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
SHOnox wee |1,2-2908 [11-C40n|PR-12-C40(1,1,1-k)4H0
PCB gy | PREER | nrgy A OIFLY AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#efE] FERH [0.02L0LTF ] 0.002LLF [ 0.004LLF [ 00280 F [ 0.04LLF 1LF
Eiy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ry4 [ RSO0 FS4900x) 1,3->50 = oy te FAAUA
noxsy | TFLY | FLr  |oFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E0.006LLF[0.03LLF | 001LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




Ryt | vy |HRESRRT| so% | E5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE{E] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2R - - - - -
EDHIEE
N—A~FH RILLT IV
e EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.29 0.009 - - - -
4R - 0.20 0.012 - - - -
68 - - - - - - -
8A - 0.29 0.005 - - - -
10H - 0.36 0.006 - - - -
12H - - - - - - -
28 - 0.30 0.014 - - - -
BiLH WY | R ; = i S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
ERE - - 0.9 - - 1 -
7y: 1 - 12 - - < -
6A| - - 0.9 - - < -
8A - - 1.0 - - <1 -
10A - - 1.1 - - <1 -
124 - - 0.6 - - 1 -
28 - - 0.8 — — <1 —




